mean # PXL hits vs eta

<pixel hits> [

5

0.95

b thebddit 4 L LLJ. A
TTThrTYTy

210 12 3

mean # PXL Layers with measurement vs eta

AF

<pixel layers> [
w
T

N
o
[

N
I

w
L
!
i

15:_ .....................................................................
1:_ .....................................................................
O e e S G
O J_.LG:I 1 1 1 : 1 1 1 1 : 1 1 1 1 1 1 1 1 : 1 1 1 1 1 1 1 1
I i : ; :
o B : : :
1 o PV NP A.* AT AR &t d.:

0.95

n
-Test_1000evT
|tREFt test 1000evt

<strip hits> [

14

12

10

ZZZZE.
3 3 3 3 qQ
XAXAXXN
onnmT]

ItREFit-OR-Test_1000evt
ItREFIt-ORK-test_1000evt
|tREF|t OR4 test “1000evt

0.95

w

<strip layers>

= N W b~ 01 00 N 0 ©

=
LI R B B

.....................................................................

0.95

w



	Contents
	Page 1


